1.7 0.1 05
(0.7) (0.1) (0.2)
re=0.00 |
traitl & trait?2
1.6 0.2 04
(0.7) (0.1) (0.1)
rg=-0.03
traitl & trait?2
1.6 0.2 0.3
(0.7) (0.1) (0.1)
rg=0.07

traitl & trait?2

Observed -logio(ptrait1)

Observed -logio(ptrait1)

Observed -logio(ptrait1)

[l P w = L h =]
1 1 1 1 1

=]

|
1

h
1

L
1

Y
1

w
1

PJ
1

=

=]

b |

=]

L

+a

w

= rJ
1

=]

traitl | trait2

r

rf /’
IJ"!";/
7.7

'0

Sy

All SNPs
PU’EJTE =0.1
PU’EJTE =0.01
PU’EJTE = 0.001

=]

1 2 3 4 5 6 7
Expected -logio(ptrait1)

traitl | trait2

—— All SNPs
— PU’EJTE =0.1
- PU’EJTE =0.01
_ PU’EJTE = 0.001

=]

1 2 3 4 5 6 7
Expected -logio(ptrait1)

traitl | trait2

F t

r 7 ’
#,

A
T

All SNPs
PU’EJTE =0.1
PU’EJTE =0.01
PU’EJTE = 0.001

=]

1 2 3 4 5 6 7
Expected -logio(ptrait1)

Observed -logio(ptrait2) Observed -logio(ptrait2)

Observed -logio(pPtrait2)

trait2 | traitl

71 | /
I i
61 i /
| S
]
5 ey
S
4 1 P
/
e
3 e
”
7 by — All SNPs
r — Pn'ajr]_ = 0.1.
l - — Pn'ajr]_ = 0.01
— Pn'ajr]_ = 0.001
0 T T T T T T T
0 1 2 3 4 5 6 7
Expected -logio(ptrait2)
trait2 | traitl
[]
7 I : 1,
I', /’
6 ;: ,//
I R
54 .f S
}.' i
4 I ,f
Y
3 i
’
2 | Y —— AIISNPs
— Pn'ajr]_ = 0.1.
1 1 — Pn'ajr]_ =0.01
— Pn'ajr]_ = 0.001
0 T T T T T T T
0 1 2 3 4 5 6 7
Expected -logio(ptrait2)
trait2 | traitl
4
T I : ,ff
i) s’
6 1 J &
H s
/
5 : I i
&
/
4 g
ra
S
3 Ry
,I
2 Al — All SNPs
/4 — Piairi=0.1
1 1 — Pn'ajr]_ =0.01
— Pn'ajr]_ = 0.001
0 T T T T T T T
0 1 2 3 4 5 6 7

Expected -logio(ptrait2)

17.5 4

=

-log(L) + const
=

-log(L) + const

-log(L) + const

Log-likelihood

[ un
Ln =)
1 1

e
=)
1

wmeoo
=) Ln
1 1

!\*‘
Ln
1

0.0
T T T T T
0.0 0.2 0.4 0.6 0.8
Shared variant number [k]

Log-likelihood

T T T
0.2 0.4 0.6

0.0
Shared variant number [k]

Log-likelihood

12 ~

10 ~

0.0 dz d4
Shared variant number [k]



